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La	
  note	
  finale	
  prendra	
  en	
  compte	
  cet	
  examen	
  (coef	
  4)	
  et	
  le	
  résumé	
  d’article	
  demandé	
  par	
  
M.	
  Bachir	
  (coef	
  1).	
  Tout	
  document	
  autorisé.	
  	
  
Il	
  peut	
  y	
  avoir	
  plusieurs	
  réponses	
  aux	
  questions	
  posées$
$
56273,32$89$:89;$<$8$<$8$<$8$<$8$<$89;$<$8$<$8$<$8=$
On	
  considère	
  le	
  schéma	
  de	
  récurrence	
  ci-­‐dessous	
  pour	
  1 ≤ 𝑖, 𝑗 ≤ 𝑛	
  
	
  

𝑀 𝑖, 𝑗 !   𝑖 + !           !                                            !      !  !  !              !            !  !  !  !  !  !  !    !  !  !  !  !  !  !"   ! 𝑖 ! 1! ∨ ! 𝑗 ! 1!
𝑀 ! , ! = !𝑀 ! − ! , ! − 1 ! 𝑀 ! − ! , ! ×! 𝑖!𝑗 ! 1 !  !  !  !  !"   ! 𝑖 ! 1! ∧ ! 𝑗 ! 1!

	
  

	
  
1) Ecrire	
  les	
  différents	
  vecteurs	
  de	
  dépendance.	
  
2) Dessiner	
  le	
  diagramme	
  pour	
  ! = 5.	
  
3) Si	
   on	
   considère	
   des	
   fonctions	
   de	
   temps	
   affines,	
   un	
   des	
   vecteurs	
   de	
   dépendance	
  

calculés	
  en	
  (1)	
  peut	
  être	
  ignoré.	
  Lequel	
  ?	
  Pourquoi	
  ?	
  
4) Réécrire	
   le	
   schéma	
   de	
   récurrence	
   avec	
   en	
   considérant	
   le	
   changement	
   de	
   variable	
  

𝑀 𝑖, 𝑗 = 𝐴(𝑖, 𝑖 + 𝑗)	
  	
  
5) Poser	
  ensuite	
  𝑘 = 𝑖 ! 𝑗	
  et	
  écrire	
  la	
  récurrence	
  pour	
  le	
  calcul	
  de	
  𝐴(𝑖, 𝑘).	
  
6) Ecrire	
  les	
  vecteurs	
  de	
  dépendance	
  de	
  la	
  nouvelle	
  récurrence.	
  
7) A	
  quelle	
  condition	
  (par	
  rapport	
  aux	
  vecteur	
  de	
  dépendance)	
  peut-­‐on	
  calculer	
  tous	
  les	
  

points	
  d’un	
  axe	
  donnée	
  en	
  parallèle	
  ?	
  	
  
8) En	
   déduire	
   que	
   la	
   récurrence	
   du	
   (7)	
   met	
   en	
   évidence	
   un	
   axe	
   de	
   parallélisation.	
  

Indiquer	
  cet	
  axe	
  et	
  nommer	
  la	
  transformation	
  de	
  boucle	
  qui	
  a	
  ainsi	
  été	
  appliquée.	
  
9) Ecrire	
  une	
  boucle	
  parallèle	
  qui	
  calcule	
  les	
  valeurs	
  de	
   	
  selon	
  la	
  récurrence	
  du	
  (7)	
  en	
  

utilisant	
  l’instruction	
  forall	
  pou	
  exprimer	
  le	
  parallélisme.	
  
	
  

56273,32$"9$:>9;$<$>9;$<$>9;$<$>9;=$
Soient	
  deux	
  polyèdres	
  𝑃!  	
  et	
  𝑃!  	
  exprimés	
  par	
  les	
  inégalités	
  𝐴𝑥 ≤ ! 	
  et	
  𝐶𝑥 ! 𝑑	
  
a) Exprimer	
  l’inégalité	
  matricielle	
  correspondant	
  à	
  	
  ! ! ! 𝑃! .	
  
b) Peut-­‐on	
  faire	
  de	
  même	
  avec	
  	
  𝑃! ∪ ! !  ?	
  Pourquoi	
  ?	
  
c) Que	
  peut-­‐on	
  dire	
  si	
  une	
  des	
  lignes	
  de	
  !   est	
  une	
  combinaison	
  linéaire	
  des	
  autres	
  ?	
  
d) Que	
  peut-­‐on	
  dire	
  de	
  ! !!si	
  𝐴!possède	
  moins	
  de	
  lignes	
  que	
  de	
  colonnes	
  ?	
  
	
  
56273,32$?9$:8$<$8=$
1) Citer	
  trois	
  niveaux	
  de	
  parallélisme	
  et	
  décrire	
  pour	
  chacun	
  un	
  moyen	
  existant	
  pour	
  sa	
  

mise	
  en	
  œuvre.	
  
2) Citer	
  et	
  définir	
  deux	
  transformations	
  de	
  boucle	
  au	
  choix.	
  
	
  
$
$



56273,32$@9$:A$*0,1+.=$
	
  
Considérons	
  le	
  programme	
  suivant	
  P(n),	
  où	
  X	
  est	
  un	
  tableau	
  d'entiers	
  indicés	
  de	
  0	
  à	
  	
  n,	
  
n>=2.	
   X(0)	
   et	
   X(1)	
   sont	
   initialisées	
   avec	
   les	
   valeurs	
   d'entrée	
   du	
   programme,	
   	
   	
   	
   a	
   et	
   b	
  
respectivement.	
  
	
  
P(n)	
  :	
  
pour	
  i	
  de	
  2	
  à	
  n	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  faire	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  X(i)	
  =	
  X(i-­‐1)	
  +	
  X	
  (i-­‐2)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  fin	
  faire	
  ;	
  
imprimer	
  X(n)	
  
	
  
1)	
  Le	
  programme	
  est	
  réalisé	
  de	
  manière	
  séquentielle.	
  On	
  cherche	
  à	
   trouver	
   le	
  nombre	
  
minimal	
  p	
  de	
  variables	
  entières,	
  R1,	
  R2,	
  …	
  Rp,	
  pour	
  réaliser	
   le	
  même	
  programme	
  sans	
  
utiliser	
  le	
  tableau	
  X.	
  
	
  
a) Pour	
  quelle	
  valeur	
  de	
  n	
  la	
  séquence	
  d'instructions	
  R1	
  =	
  a	
  ;	
  R2	
  =	
  b	
  ;	
  R3	
  =	
  R1	
  +	
  R2	
  ;	
  R1	
  

=	
  R2	
  +	
  R3	
  ;	
  imprimer	
  R1	
  ;	
  réalise	
  t-­‐elle	
  le	
  programme	
  P(n)	
  ?	
  
b) pour	
  chaque	
  n	
  fixé,	
  n>=3,	
  donner	
  la	
  valeur	
  minimale	
  pmin	
  du	
  nombre	
  p	
  de	
  variables	
  

nécessaires	
  pour	
  réaliser	
  P(n)	
  et	
  le	
  programme	
  correspondant.	
  pmin	
  dépend-­‐il	
  de	
  n	
  ?	
  
	
  
2)	
  Considérons	
  le	
  nouveau	
  programme	
  Q(n)	
  suivant	
  :	
  
	
  
Q(n)	
  :	
  
pour	
  i	
  de	
  2	
  à	
  n	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  faire	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  X(i)	
  =	
  X(i-­‐1)	
  +	
  X	
  (i-­‐2)	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  fin	
  faire	
  ;	
  
pour	
  i	
  de	
  n	
  à	
  2	
  
	
  	
  	
  	
  	
  	
  	
  	
  faire	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  imprimer	
  X(i)	
  
	
  	
  	
  	
  	
  	
  	
  fin	
  faire	
  
	
  
a)	
  pour	
  chaque	
  n	
  fixé,	
  n>=3,	
  donner	
  la	
  valeur	
  minimale	
  pmin	
  du	
  nombre	
  p	
  de	
  variables	
  
nécessaires	
  pour	
  réaliser	
  Q(n).	
  pmin	
  dépend-­‐il	
  de	
  n	
  ?	
  
	
  
b)	
   nous	
   revenons	
   au	
  programme	
  P(n).	
   Ce	
  programme	
  a	
  2	
   entrées	
   et	
   une	
   sortie.	
   Est-­‐il	
  
réversible	
  ?	
  Si	
  non,	
  quelle	
  est	
  la	
  taille	
  du	
  déchet	
  nécessaire	
   	
  pour	
  le	
  rendre	
  réversible	
  ?	
  
Trouver	
  un	
  programme	
  P'(n)	
  qui	
  calcule	
  son	
  inverse.	
  
	
  
c)	
  P'(n)	
  peut-­‐il	
  être	
  réalisé	
  avec	
  p	
  variables	
  R1,	
  …	
  Rp	
  ?	
  Si	
  oui,	
  discuter	
  la	
  relation	
  entre	
  le	
  
nombre	
  pmin	
  de	
  variables	
  nécessaires,	
  et	
  n.	
  


